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drei Briiche, Reihenfolge der Operationen mit
Klammern
Name: Datum: Ergebnis:
16 1 2. 2
— —12)+8= —— =) X ==
(5 ) (5733
3 1 3 23 1
— — ) X — = —_(— — —) =
173973 3575
14 7 12
——=)+7= — —2)+4=
(52 (-2
I 1 1 I 1 1
—_ — — ) X — = —_ 1+ — —_ =
37375 G973
9
3+=-)+9=
(3+3)
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drei Briiche, Reihenfolge der Operationen mit

Klammern
Name: Datum: Ergebnis:
16 11 | 12 2 1
2 12)s8=(——) = (-1— e
(5 -12)=8=C) =Clyp) 373%37 15
3 1. 3 5 18
373717 % 37375
14 7 7 12 |
— =)~/ = — ——2 —4:__
78773 (572 10
111 111 1
— - )x==0 St o)X ===
373)%5 G 9*373
9 5 5 11
+-)+9=— -—+1)+5=—
(+3)79=5 G573
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